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B.A./B.Sc. (General) 6th Semester
Examination

1047
JOURNALISM AND MASS COMMUNICATION

(Advertising and Public Relations)
(In AH Mediums)

Time : 3 Hours] [Max. Marks : 70

Note :- (i) Attempt five questions in all taking one from
each Unit

(H) Each question carries equal marks.

(m) Q. No, 1 is compulsory. Do any four from
next 4 units.

1. Write short notes on (any seven) :

(i) PR Vs Advertising

(ii) Global Advertising

(Hi) PRO

(iv) Copywriter

(v) PR agency
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(vi) Benefits of PR

(vii) Press release

(viii) Internet advertising

(k) PR in crisis situation

(x) Creative dept in an Ad agency , 7x2=14

UniM

2. Why are marketers all over the world spending heavily

on advertising ?

Or

3. Explain the structure of a national level Ad agency. 14

Unit-II

4. What is copywriting and why is it important in

advertising ?

Or

5; What considerations are kept in mind while writing

copy for an ad ? 14

Unit-Ill

6. Explain the different types of public in context of

PR.

Or.

7, Explain the organization structure of a PR agency. 14
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Unit-IV

8. Explain the importance of Newsletter and Printed

Literatures as important PR tools.

OK
9. How should a PRO handle media for gaining

advantage for his/her organization ? 14
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1.

:~ (i)

(ii)

(iii)

0) PR

(ii)

(iii) P.R.O.

(iv)

(v) PR

(vi) PR

(vii)

(viii)

(ix)

(x)
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ferfc! "̂  PR

7x2=14



2. fc|Mul«h

3. < i ^ :RR " q îHi "̂  c f " ti< îi f ^ l 14

6. PR

4. "^Pft Tlff&rr 1̂1 % ̂ «?T ft^iMi ^ " f̂ " }̂f ^ c q t % ?

5. "̂  ft̂ NH "^ %IJ Wft Rrl̂ slcl

% ? 14

7 . PR -^ " " ÎB^ "^R^IT ^r? " f ^ w ^ i 14

f̂ Fff-IV

8. H S c c * ? PR ̂  <5H*<«|{ =£ ^T ^ sî l̂ cT?TF

^7
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9. PRO " H
*

? 14
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(1)

fe§"

(2)

(3)
fFoT-fS^oT VptR? oft I

L fe^
(1) PR

(2) HH»fd<x

(3) P.R.O.

(4)

(5)

(6)
(7)

(8)

2. W HH^T

(9) Ho(do(i&<S ZF?53" ^H PR

(10) fe^fdO'd 2dHl f¥% dtM'dHoT fesf'dl 7x2=14
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3. d'Hddl *JTra"€}" feHfed'd fidHl F!~ fidtto' fetfl

4. oRfl- d'fefddl oft D" »f§ fetffdd'd 1%% fcj

5.

" 14

6. PR

oft

7. PR fiHHl §"3T5(^^t Adr»<Sl ^^d^A 0(^1 14

8. Wd^U^^ PR ̂  HHW f̂ % fU f¥% Qs

H'fdd H7 *cda:rt
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9. »TU' Hdl66 5 5 " 55̂  IfUH ofB^ PRO

fet" AtJ'<JV> o^?T t^'dltJ1 I" ? 14

.


